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B Cu Si Mg Zn Fe Mn Ni Ti Pb Sn Cr 1
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] VEE SR VAR SR X # y v | Fhy ¢k AR Juh .

AGIA 4,0 1.2 0,154 | 0,30 |0,50 | 0,30 |0,06 |0,25 |0,05 |005 |0,05 |Z%

~5,0 T T BT YT YT T T T UTF UT B

AGIB 4,0 0,20 0,15 0,10 | 0,35 | 0,10 | 0,06 | 0,06 |0,06 |0,06 | 0,05 |Z%&

~5,0 T ~0,35 PUF LI T T ~0,3 T UTF T il

AG2A 3,0 4,0 0,254 | 0,55 0,8 0,65 | 0,30 | 0,20 |0,15 |0,06 | 0,15 | %&

~4,5 ~6,0 T BT YT YT YT BT YT UTF UT B

AC2B 2,0 5,0 0,50 1,0 1,0 0,50 | 0,35 | 0,20 |0,20 |0,10 | 0,20 | %&

~4,0 ~7,0 T BT YT YT YT BT YT UTF UT B

0,25 | 10,0 0,154 | 0,30 0,8 0,35 | 0,10 | 0,20 |0,10 |0,10 | 0,15 | %&

AC3A UTF ~13, T T T T T BT T UT T Bk
0

0,25 | 8,0 0,30 0,25 | 0,55 |03 |00 | 0,20 |0,10 |0,06 | 0,15 | &

AC4A UF ~10, ~0,6 BT YT ~0,6 BT BT BT UF gF B
0

2,0 7,0 0,50 1,0 1,0 0,50 | 0,35 | 0,20 |0,20 |0,10 | 0,20 | %&

AC4B ~4,0 ~10, T LT YT YT YT Yy YT UTF UT B
0

AGLC 0,25 | 6,5 0,25 0,35 | 0,55 |03 |00 |0,20 |0,10 |0,06 | 0,10 | &

UTF ~1,5 ~0,45 BT T T T T T UT T Bk

AC4C 0,20 | 6,5 0,20 0,10 | 0,20 | 0,10 |0,06 | 0,20 |0,06 |0,06 | 0,05 %

H UT ~1,5 ~0,40 BT T T T BT T UT T Bk

AGAD 1,0 4,5 0,40 0,30 0,6 0,50 | 0,20 | 0,20 |0,10 |0,06 | 0,15 | %&

~1,5 ~5,5 ~0,6 LT BLTF YT YT BT YT UTF UT B

ACEA 3,5 0,6 1,2 0,15 0,8 0,35 1,7 0,20 | 0,06 |0,05 |0,15 | &

~4,5 T ~1,8 PUF LI LI ~2,3 PUF T T UTF il

ACTA 0,10 | 0,20 3,6 0,15 | 0,30 0,6 0,06 | 0,20 |0,06 |0,06 | 0,15 |%&

UT T ~5,5 AT T T T BT T UT T Bk

AGTB 0,10 | 0,20 | 9,5 0,10 | 0,30 | 0,10 | 0,06 | 0,20 |0,06 |0,06 | 0,15 | &

UT g ~11,0 U YT YT YT Yy YT UT UTF B

0,8 11,0 0,7 0,15 0,8 0,15 0,8 0,20 | 0,06 |0,05 |0,10 | %

AC8A ~1,38 ~18, ~1,8 PAF T MUF ~1,5 T HUF T UT B

0
2,0 8,5 0,50 0,50 1,0 0,560 | 0,10 | 0,20 | 0,10 | 0,10 | 0,10 | %&
AC8B ~4,0 ~10, ~1,5 LT YT YT ~1,0 Yy YT UT gF B
5




2,0 8,5 0,50 0,50 1,0 0,50 0,5 0,20 0,10 | 0,10 0,10

AC8C ~4,0 ~10, ~1,5 LT T T LT LT T UTF BT
5

AC9A 0,50 22 0,50 0,20 0,8 0,50 0,50 0,20 0,10 | 0,10 0,10

~1,5 ~24 ~1,5 LT T T ~1,5 BT YT UTF UT

AC9B 0,50 18 0,50 0,20 0,8 0,50 0,50 0,20 0,10 | 0,10 0,10

~1,5 ~20 ~1,5 LT T LT ~1,5 LT LUF T HUF




